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Answer to Q. No. 1%@2_@[}1 Problems

_ Cont ST LEDGER
| —~0st Ledger Control
ToCostngP&LA 4 o Account
T .C, (Sales) -
o Balance c/d 1.00,000 | By Balanc L4
12,500 | By St e bid 21,500
y Stores ledger control Alc. 20
By Wages control Alc. m‘ﬂﬁ“
By Factory overhead control A/c. E' qu
By Adm. Overhead control A/c. 15' 000
EY gelllng Overhead Control Alc. 7.000
1172500 y Costing P&L Alc. (Profit) 23 000
1,12,500
Stores Ledger Control Account
To Balance b/d T 4
To Cost ledger control Alc. EE.EDD By WIP ledger control Alc. 18,000
,000 | By Factory overhead control A/C. 1.000
= By Balances c/d 5500
24,500 | 24 500
Wages Control Account
To Cost led ; ;
o Cost ledger control Alc. 20.000 | By WIP ledger control A/c. 15,000
By Factory overheads Control A/C 5.000
20,000 20.000
WIP Ledger Control Account
3 L4
To Balance b/d 10200 By Finished goods ledger
To Stores ledger control Alc. 18,000 control AC. 55,000
To Wages control A/C. 15000 By Bal c/d 200
To Factory overhead control A/C. 12,000
55200 95.200
Factory Overhead Control Account v
4
C. 12,000
To Stores ledger control A/C. ;ggg By WIP ledger control A
To Wages Control N 3 000 I
ntrol A/C. —
To Cost ledger €0 12.000 12,00
Administration Overhead Control Account 7
Finished goods ledger control A/C. 15,000
To Cost ledger control A/C - 15,0

t
Finished Goods I:d er Control Accour -

6.800 | BY Cost.of Sales AlC. Ti;f;gg
o 3313":: bfdmntrﬂl AlC 55,000 By Balance c/d :
To WIP ledger 000
Overhead control A/C. 15,000 ._----_“:j —
L Adi’///ﬁmf 18800
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Selling Overhead Ledger Control Account

L4
3 7,000
To Cost ledger control Afc. 7,000 | By Cost of sales A/c /M.
7,000 -
Cost of Sales Account e - 4
L4
To Finished goods ledger _ 77,000
control ﬁ?c. : 70.000 | By Costing P &L Alc.
To Selling overhead control A/c. 7,000 77,000
77.000
Costing P & L Account ¥
N 1,00,000
To Cost of sales A/c. 77.000 | By Cost ledger control Alc. (Sales)
To Cost ledger control A/c. (Profit) 23,000
° 1.00,000
1,00,000 e S——
.No. 2 :
A erlo > WIP Ledger Control Account z
? A
0 ini k ledaer control Alc.  5,25,000
To Smnce o< | gmﬁhegsmei cunfrlul Alc. 4,000
To Wages control A/c. 60,000 | By Stores lecdg 4 60.000
To Stores ledger control A/c. 2 80.000 | By Balance c/d
To Cost ledger control A/c. 12,000
To Cost ledger control A/c. ; Eggg
To Faclory overhead control A/C. 1,20,
) 9,89,000 9,89,000
Answer to Q. No. 3 : COST LEDGER
General Ledger Adjustment Account
Dr. Cr.
¢'000 X '000
To Costing profit and 12,430 | By Balance b/d 3.134
loss Alc. (Sales) By Material control A/c. 4,801
To Balance-b/d 3,226 | By Wages control A/c. 2 143
By Production overhead control Alc.
(Carriage) 84
By Production overhead control Alc. 2423
By Administration overhead control Alc. 740
By Selling & dist. overhead control Afc. 642
By Costing profit and loss A/c. 1.689
15656 15,656
Material Control Account
2 2
To Balance b/d 1,240 | By WIP control Afc. 4774
To ngeral ledger 4,801 | By Production overhead control Alc. 412
Adjustment Alc. By Administration overhead control Alc. 34
By Selling & dist. Overhead control Alc. 72
— | By Balance c/d 749
6,041 B AA
6,041
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T
0 General lE‘ﬁgEr EﬁjustmEnt Al - e
C. 2.143 Wh_
y WIP control A/ 4
~———— | BY Productj . 1,493
oo 272 uction overhead control Asc. 650
OQuction Qyer 2.143
ToBalancebg ————— 5
To Material contr
ol L
To General ledger :jﬁ;stme 432 g:« EE;E mr?{: Ae, 3,591
neral Ledger Adjust 650
JuStment Arc. 2,423
3653 —
. 3,653
Work-in-progress Control Account
To Balance b/d X - T
To Material control Alc. 625 | By Finished goods control Alc. 9.584
To Wages control A/c. ﬂ;g =1 TG o 899
To Production overhead control A/c. 3.591
10,483 10,483
Administration Overhead Control Account
L4 3
To Material control A/c. 34 | By Balance b/d 120
To General ledger adjustment A/c. 740 | By Finished goods control A/c. 529
To Balance c/d _23 | By Cost of Sales Alc. 148
797 797
Finished Goods Control Account
< i
1240 | By Cost of sales A/C. 9,773
To Balance b/d ' 1 580
To Administration overhead control Alc. : ggi By Balance c/d. |
To WIP control A/C. 11353 11333
: jon Overhead Control Account
Selling and Distribut
7 <
—_— 65 | By Cost of Sales A/c. 820
To Balance b/d 72
To Material control A/C. i 642
i ent A/C. =
To General ledger adjustm 41 320
To Balance L//_ﬂ‘l__.——r
ount
/ﬂ“ 3
I —- 10,741
- it & Loss A/C. '
5773 | By Costing Prof
) ntrol A/C. 820
To Finished goods €O +d control Alc. —
dist. Overne 148 10.7
To Selling and Alc -
ad cuntrcﬂ ' 107411 —mmm

To Admn. GL/
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Costing Profit and Loss Account — ¥
t dger adjustment A/C.
To Cost of sales Alc. 10,741 | By General [edg 12,430
To General ledger adjustment A/c. (Sales)
(Profit) _1.689 12.430
12,430
Trial Balance
--——-—’—'——'_"_'
(as on 31° March, 1996) Cr.
ok Z'000
Z'000
Material control account ;gg
Work-in-progress control account 1 580
Finished goods control account 62
Production overhead control account 23
Admn. Overhead control account 41
Selling and dist. Overhead control account 3.220
General ledger adjustment account 3290 3.290
Answer to Q. No. 4 : GENERAL LEDGER
Stores Control Account c
Dr. L
3 L4
To Balance b/d 1.50,000 | By Work-in-progress A/C. 10,50,000
To Sundry creditors A/c. 10,00,000 | By P & L Afc. 2,000
By Balance c/d 95,000
11,50,000 11,50,000
Wages Control Account
4 3
To Bank Alc. 6,50,000 | By Work-in-progress Alc. 6,00,000
By Factory overhead control A/c.
(Indirect wages) 50,000
6,50,000 6.50,000
Factory Overhead Control Account
i X
To Bank Alc. 3,00,000 | By Work-in-progress A/c. 2,75,000
To Wages control A/c. 20.000 | By P&L Alc. (under-absorption) 75,000
3.50,000
3,90.000
Work-in-progress Account
X 2
To Stores control A/c. 10,50,000 | By Finished stock control Afc. 18,00,000
To Wages control A/c. 6,00,000 | By Balance c/d 1 95 000
To Overhead control Al 2.75.000 o
19.25,000 R

19,25,000
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To Work-in-progress N“‘*——L-ﬁﬂ__
' 18,
70.000 By Cost of sales (B.F.) 17,05 cmE
180055 By Balance ¢/d 95
18,00,000 95,000
. Cost of Sal 18,00.000
- -2 vales Account
To gmltl:fiheci stuc.k CP”W 1 L4 2
To Selling and distributign Control A/, E:ggggﬂ By P&L Alc 18.05,000
_ 18.05000
000 __18,05.000
— Sales Account
To P&L AlC. X X
%% ggggﬂ By Sundry debtors A/c. 22,00,000
Selling and Distribut; N S
noution Overhead Control Account
T C4
To Bank A/c. 1,00.000 | By Cost of sales Alc. 1,00,000
) 1,00.000 100000
Bank Account
7 4
To Balance b/d

75,000 | By Wages control Alc. 6,50,000
To Sundry debtors 21,00,000 | By Overhead control Alc. 3,00,000

By Selling and distribution control A/C. 1,00,000

By Sundry creditors Alc. 11,00.0%%
By Balance c/d — %Z'Eﬂﬁ
21,75,000 M9,

To Balance b/d 25,000 - B

Plant and Machinery Account o
3
5.75,000
To Balance b/d 5 75.000 | By Balance c/d N RY
° 575,000
sundry Debtors i&ccnunt -
21,00,000
' 300,000 | By Bank Nc'cfd LR 00
To Balance b/d 59 gg ggg By Balance -3.00008
To Sales 24 00, P AT AL
S uw@ncuunt _ E
- 5,00,

_ By Balance bIC 10.00.000
1133333 By Stores control AC 15.00,000

To Bank y W | :
To Balance ¢/ 18R ount -
gare Capital ACCEE=— .
/’//L’?*"Egﬁﬁce b/d R

3,00,000 | B

/d

To Balance € //R_ELE»/’? -
Balance b 15.000
5,15.000 L BL 2 Loss AlC 315,000

-_J‘-_J—r--'
To Balance ¢/d ~ 75000




CA R. K. MEHTA |

COST ACCOUNTING 13. 16
| Profit & Loss Account -
2 <
22,00,000
To Cost of sales Alc. 18.05,000 | By Sales A/C.
To Stores control Alc. 5,000
To Factory overhead control Alc.
(under-absorption) 75,000
To Net Profit (T/F to Reserves) ﬁ 22 00.000
e ———
Answer to Q.5. _ Account Cr.
Dr. General Ledger Adjustment AC -
Particulars s Ral Fﬂﬂ;?:lars 1,88,750
To Costing P & L Alc. 2.,56,000 By Balance 26.700
To Balancge c/d 180,150 By Stores Ledger Control A/C. 77,500
By Wages Control A/C. 95*200
By Overheads Control A/c. N 45-0{]0
i fit and Loss AJ/C. 9,
— By Costing Profi 236150
Dr Stores Ledger Control Account Cr.

' 3
Particulars { 20,000
To Balance b/d 53,375 By WIP Control A/c ,

To General Ledger Adjustment A/c. 26,700 By Factory Overheads Control A/C. 900
By Balance c/d 39,175
80,075 80,075
Dr. WIP Control Account Cr.
Particulars L4 7
To Balance b/d 1,04,595 By Finished Goods Control A/c. 2,022,800
To Stores Ledger Control A/c. 40,000 By Balance c/d. 1.12.095
To Wages Control A/c. 54,500 (1,04,585 + 7,500)
To Factory, Overheads Control A/C. 1,15,900
3.14,995 3,14 995
Dr. Finished Goods Control Account Cr.
Particulars 4 T
To Balance b/d 30,780 By Cost of Sales Alc. 2.04 800
To WIP Control A/c. 202900 By Balance c/d 28 880
2.33,680 ) 2 33.680

Note : Gross profit = 20% on sales.

Hence, Cost of goods sold =X 2,566,000 - 20% of ¥ 2,56,000 = T 2.04.800.
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Srticulars

P
ﬁ%’FWELEdQEF Control Alc ? Contrg) Account ]
T['_I GE“EFE ger ﬁdJUETmEnt Nc 23rnnn .ﬂ' cﬂsﬁng and F"'I'l}rt [ 4
- g5 ) B‘J’ Wip Co t & Loss Alc. 3,200
— —=32.<00 ntrol Ajg, 1
J__'J_S-‘J_ﬂ-g |15.EDU
L Cost _ 1,19,100
Pﬂmculam E% )
% Cr.

..--""_--_-__
M—Gmds Control Alc. —
2.0413[]':] E_ CI - !
J Llosing Profit & Loss Ac. 2,04,800

Dr. W
EEEIIEE 49¢s Control Account A
To General Ledger Adjustment Ay C'TEE‘ _ Tr.
| E? E"\;T:EDW Overheads Control Ale. 23,000
L 77 500 y Control Alc. 54 500
77,500
Dr. . _
Ll Costing Profit and Loss Account Cr.
particulars 7 o
P L4
Overh )
To Factory ©ver eads L-ontrol Ale. 3,200 By General Ledger Adjustment AJc. 2,56,000
To Cost of Sales A/c. 2,04,800 (Sales)
To General Ledger Adjustment Alc.
Profit R
2,56,000 2.56.000
Trial Balance (as on 30.6.201 2)
Particulars Dr. {:'.l cr.})
Stores Ledger Control A/C. 1 :::92 :]gg
WIP Control A/C. '231.380
Finished Goods Control AlC. 1 80.150
General Ledger Adjustment Alc. 1.80.150 1.80,150
- =
Cr.
ount
Ans. to Q.6. Cost Ledger Cuntml‘ AcC .
r. z ™ 98,000
Particulars oo By Balance Alc 95,000
. : SaIEE) 3100' 5 Ledger CDH’H‘ﬂl -
To Costing Profit & LOSS Pﬁc( 3,000 SmrEWage control ALC 65,000
To Stores Ledger Control A/C 95000 BY (Productive \Wages +
To Balance c/d indirect Wages) ” 0,000
ractory O erheads Control A/C. 4UIGUU
B? Se ting P'[Dﬂl & LosS AC. ‘_—_—‘-U—.DE
By Cost / 398,008
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Cr.
Dr. Stores Ledger Control Account -
Particulars 4 — 3 000
To Balance b/d 35.000 By Cost Ledger Control Nci AJC 08,000
To Cost Ledger Control A/c. 95,000 By work-in-progress Control £ 32.000
To Work-in-progress Control A/c. ___3,000 By Balance c/d 1,33,000
1,33,000 —
- Cr.
Dr. Work-in-progress Control Account "
Particulars T 3,000
To Balance b/d 38,000 By Stores Ledger CDHHTI Tﬁl’c 2,413,000
To Stores Ledger Control A/c. 98.000 By Finished Goods Contro : 20,000
To Wages Control Alc. 40,000 By Balance c/d
To Factory Overheads Control A/c. 5_!2;% 2,36,000
Dr Finished Goods Control Account :‘r.
Particulars \
To Balance b/d 25,000 By Cost of Sales AlC. z‘zg'ggg
. Balance c/d — L
To Work-in-progress Control A/C. %,__;g_%g% By 238,000
Dr. Factory Overheads Control Account :" :
: L4
Particulars -
To Wage Control Alc (indirect Labour) 25,000 By Workin-progres E:;g?‘ Ajc. 60,000
. 150% o :
To Cost Ledger Control A/c. 50,000 (
0 9 B}' Balance c/d 15,000
75,000 75,000
Dr. Cost of Sales Account Cr.
Particulars L4 L4
To Fix. Goods Control 210,000 By Costing P & L A/C. 2,50,000
To Seliing Overhead Control 40,000
2.50,000 2,50.00
Dr. Costing Profit and Loss Account Cr.
Particulars 3 L4
To Cost of Sales 2,50,000 By Cost Ledger Control Alc. 3,00,000
To Cost Ledger Control A/c.
(Profit) 50,000
3.00.000 3.00,000
Trial Balance as at 20" April, 2011
Particulars Dr. () Cr. )
Stores Ledger Control A/c. 32,000
*.*'furk-in—progress Control Alc. 20,000
Finished Goods Control Alc. 28,000
Factory Overheads Control A/c. 15,000

Cost Ledger Control Ale,

o
on
o
o
o

95,000

|
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To Cost Ledger CDN":

65.00 .
_______j E‘J "::-I’urk-wprn-gress Control Alc :
—_— Y Fa 4
w Overheads Control Alc. Egggg
Ans. to Q.7. _ﬂ_ﬁhﬂ_ji
— Sto )
fi[lu:ulars res Ledger Control A ctoins
To Balance b/d —— ._3______%__
To GLA (Purchases) 32,000 B 4
WIP
To WIP Control Alc. 158,000 E: Wm:“”“”' (D. Materials) 1,60,000
80.000 ‘S Overhead Control Aic. 20,000
o é'ﬂd}rem Material)
Y c-s.lmg P&LAcC 6.000
(Deficiency)
—_— By Bal
X A 84,000
" 2.70,000
_ P Control A -
Particulars . ceoum |
To Balance b/d - L4
60.000
To Stores Control 1,60,000 g: Elt;r::e‘j?trﬂ; Control o0 0t
N oods Lontro 4 00,000
To Wages Control 65.000 (Balancing figures)
To Works Overheads Control 240000 By Balance c/d 45,000
5,25.000 5,25.000
Wages Control Account
Particulars L4 T
To GLA Alc. 70.000 By WIP (Direct Wages) 65,000
By Works Overhead (Indirect Wages) 5,000
70,000 70.000
Works Overheads Control Account
<
- L4
Particulars s
l 20.000 By WIP Control (Applies) 240,000
To Stores Contro 5 000 By Costing P & L A/C. 35,000
To Wages Control , ED*U 00 (under-recovered) N
To GLA Alc. W - 275,000
YT
| Account
L4 4,00.000

Particulars 400 000 B Cosl of Sales AlC. o b—

t
coun !

T ntrol A/C.
e cost of cales AC -
t Costing P & L AC. Mg_@

Particulars EQQD,QQ By

| A/C.

To Finished Goods Contro
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Costing Profit & Loss Account J—— 2
Particulars T ————— 4,00,000
To Cost of Sales Alc. 4,00,000 By GLA (Sales) 10%)
To Works Overhead control 35,000 (4,00,000 plus 1,000
To Stores Ledger Control Alc. 6,000 By GLA (LosS) 4.41,000
4,41,000 —
Profit and Loss Account =
Particulars 3 I 4,40,000
: _ By Sales
To Opening Stock :
—» Raw Material 32,000 By Glnslggaj tr?njie.rial 84 000
- WIP 60,000 - 45,000
1,58,000 - WIP
E :::;225&5 70,000 By Income from Investment 1?2003
To Works Overheads 2,50,000 By Netloss ‘
To Loss on Sale of Capital Asset _ 20,000
Reconciliation Statement
. -
Particulars 1000
1. Loss as per Cost Books 10,000 '
2. Income from investment not recorded in cost books ' —
sale of capital asset not recorded in cost bOOKs e vy
3. Losson P 10 000 21000
Loss as per financial books = 21,000 - 10,000 =¥ 11,000.
Answer to Q. No. 8 : Journal Entries
< <
(i) Stores ledger control A/c. ...Dr. 25,000
To WIP ledger control Afc. 25,000
(Materials returned to stores from job)
(i) Wages control Alc. ...Dr. 50,000
To Cost ledger control Alc. | 50 000
(Payment of gross wages)
WIP ledger control A/c. ..Dr. 20.000
Factory overhead control A/c. . .Dr 12.000
Adrﬁ. Dverhe?d control A/c. Dr 10.000
Selling and dist. Overhead contro| Alc.
..0r, 8,000
To Wages control A/c.
50,000

(Amount of wages allocated to WIP and respective
overhead accounts).
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Answer . No.9 - “ "

" Particulars CAR
K
Stores LEdgEr CU"“M ME":TA I
To Sundry Creditn
rs
To Cash or Bank e Dr or {9 Cr. (9
WIP Control A/c | R
To Stores Ledger A/c 3,00,000
Wages Control A/c Dr. | 4,00,000 S
To Cash or Bank A/c o 4,000
WIP Control A/c Dr. | 200000 | .
Factory overheads C
ontr 2,00,000
To Wages Control A/c ol Ale gr. 1,00,000
r.
Factory overheads Contro| A/c 1.00,000
To Cash or Bank 5 2,00,000
WIP Control Alc - | 99000
To Facto 80,000
S&D Ove?hg::;hga:ts oA i
ontrol
To Cash or Bank A/c e Dr. 40,000 R
Finished goods Control A/c | 40,000
To WIP Contro! Alc Dr. | 5,00,000 |
Cost of Sales Alc 5,00,000
To Finished Goods A/c Or. | 5,40.000
STDdS & D Overheads Control A/c E'EE'EEE
undry deb '
ry debtors Alc Dr. | 3.75,000
Cash or Bank Alc 75
Dr. | 3,75,000
To Sales Alc 7.50,000
Cash or Bank Alc Dr. | 2,00,000 |
To Sundry Debtors A/C 2,00,000
Sundry Creditors A/C Dr. | 2,00,000
To Cash or Bank A/c 2.00,000
Answer to Q. No. 10
Journal Entries
S. No Particulars Dr. Cr.
# L] z z
(i) Stores Ledger Control A/c Dr.  4,00,000 J—
To Creditors . 3000 T
. '
iy ~ Stores Ledger Cantrol A% 3,000
To Cash Dr.  3,00,000
iy ~ Creditors Alc h 3,00,000
To Cas Dr. 2,50,000
(iv) WIP Ledger Control A/C control A 2,50,000
To Stores Ledger LM Dr.  2,00,000
(v) ~ Wages Control A/C 200,000
To Cas Dr. 70,000
(vi) To Cash Dr. 360,000
. Works Oﬂerheads Control A/C 3,60.000
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(viii)
(ix)
(x)
(xi)

(xii)

Works Overheads Control Afc
To Stores Ledger Control A/c
Selling and Distribution Overheads Control A/C
To Cash
Office and Adm. Overheads Control A/c
To Cash
WIP Ledger Control Alc
To Works Overheads Control A/C
Finished Stock Control A/c
To WIP Ledger Control A/c

or.

Dr.

Dr.

Dr.

Dr.

2 000
2.000

10,000
10,000

4,000
4 000

4 10,000
410,000

8,860,000
8.60,000




Q1.
Ans.:

Q.2.

_ troducti
Define Costing ang Hction to Cost Accountin
' g

cuﬁﬁng tltis g

Cost Acc )
ounting : It means the for

accounts. In oth
techniques f &r words, cost a 'mal system of recordi
. or the co ccounting m -ording cost in the boo
r - st de ; ‘means the a : : ks of
profitability. termination, fixation of selﬁﬁgﬁtsg uafns; % priiciples anc
ascerlainment of

Write
a note on cost classification

Ans.: 1. Classificati
ication According to Traceability to Cost Object -

L ]
?

conveniently identifi
ntifred with |
raw materials u , @ particular product, proce
sed, wages of machine operators apre c:rjrr?:g: Ei:rr'tnmiem' vty
ples.

(i) Indirect Cost
s . These costs c
co . annot be conv ' T -
bEiL;JiFI;f p;ncess of department. These are :Er:llleel::r éﬂzrst'fﬂ o
depreciation ”;:HZEF E{f cost qnitﬁ or cost centres. Examples a::T;\?drE e
; gerial salaries, coal, lubricating oil, wages of foreman, etufa "~

2. Classification A |
0 Fixed Cnstic?[?mg to Cost Behaviour or Variability .
: : These costs remain fixed in 'total’ and do not |
with the volume of production But the fixed cost ‘per E;t‘lncrnase n Aoan the
) w::lu_me of production decreases, and vice versa. increaseg/uhen the
(ii) ‘:nfarmhla Costs : These costs change in proportion to the volume of production.
In other wnrds.l when volume of output increases, total variable cost also
increases, and vice vVersa. But the variable cost per unit remains fixed.

(iii) Semi-variahia or Semi-fixed Costs : These costs are parlly fixed and partly
variable. A semi-variable cost has often a fixed element below which it will not fall

at any level of output and the variable element changes either at a constant rate

or in lumps.

Fixed coslts al€ further classified into committed costs and discretionary costs.

(a) Committed Coslts :
pruducttun is suspended [
director, plant deprecialion elc.

(b} Discretionary Costs : These a€ the costs which may be av
run DYy management decisions. For

development cosls.

osts : These

i Uncuntmllﬂblﬂ Cosi® terprise.
i ecified member of an B ontrol costs like factory rent.

e action O mi
: |lable. FOr example, it 15
laries, et

These are the costs which cannot be avoided even if
n the short run. For example salary of the managing

oided in the short
gxample advertising. research and

| r quantities.
o ich cannot be influenced by
Fixed costs ar€ ganerally

al re

narg

v I

| b
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Q3. Define direct materials, direct labour and direct expenses.
Direct Materials : It means those materials which can be conv

can be directly allocated to a particular product, job, process of
Examples :(a) Timber used in furniture.

Ans.

Q.4.
Ans.:

Q.5.
Ans.:

Direct Labour : It means such labour cost whir:_h can be conv it
can be directly allocated to a particular p(oduct. job, process of depa
Examples :(a) Carpenter in furniture unit.

aniently identified with and
department.

(b) Refill used in pen.
(c) Paper used in book.
(d) Gold or silver used in jewellery.

. :
0N i3 o eniently identified with and

e

(b) Washer in dry cleaning unit
(¢) Halwai in confectionery unit

(d) Baker in baking unit. |
‘ ials and direct labour are
s other than direct materi o0 i o rectly

: . ‘ ost \ -
Direct Expenses : All direct C veniently ident

termed as direct expenses. These can be con
allocated to a product, job, process of department.
Examples :(a) Excise duty based on output produced.
(b) Royalty based on output prudqced.
(c) Cost of special mould and design.

s oy b indi enses. i
Define indirect materials, indirect labour and indirect exi e be conveniently identified

Indirect Materials : It means those materigls which _
with and cannot be directly allocated to a parthular product, j_an process or department.
Examples : (a) Lubricant oil and grease used In manufacturing.

(b) Nails used in furniture.

(c) Thread used in stitching.

It means such labour cost which cannot be conveniently identified with

Indirect Labour : department.

and cannot be directly allocated to a particular product, job, process or

Examples :(a) Labour exployed in accounting department.

(b) Labour employed in security department. |
(c) Labour employed in machine shop such as tool setters, fitters and

cleaners.
(d) Labour employed in repairs and maintenance department.

Indirect Expenses : All indirect costs other than indirect materials and indirect labour are
termed as indirect expenses. These cannot be conveniently identified with and cannot be
directly allocated to a product, job, process and department.

Examples :(a) Rent and taxes of building.
(b) Repairs, insurance and depreciation on building, plant, machinery and

furniture
(c) Telephone expenses.

Define relevant cost and irrelevant cost.
Relevant Cost ': |t represents such portion of total cost which differ under different

alternatives. For example, in case of decision relating to replacement of old machine, the
dismantling cost of old machine is a relevant cost.
Irrelevant Cost : It represents such portion of total cost which is same in different

alternatives. It cannot be avoided by the management in any case. For example, while
deciding whether to purchase to raw material or to manufacture it the fixed cost is

irrelevant. Such irrelevant cost is also known as sunk cost.
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Q.6.

Ans..

Q.7.

Ans.:

Q.8.

Ans.:

Q.9.

Ans.:

Q.10.

Ans.:

Q.11.
Ans.:

T 13

C -

plant is tempnrarily Closed

owned capital.

Conversion cost
igs 5 : It mean .
) ed goods. |t i rred uptil production st i
productigaoverheads. - Its the aggregate of direct labuu?gfliztﬁ:;:::g E ra*.;
: s an

[P}f;igsc;;mguc: Cost and period cost.
ost / Inventoriabl

e Cost :

glr;iuci: For €xample under margi?:al.

rption coting, total manufacturing ¢

Thgse are _the cots which are assigned to the
ncustmg, uartable'manufacturing cost and under
st (variable and fixed) constitute product cost.

Period Cost : Th
: Thes -
as expense against Ethaerer;:: Costs which are not assigned to the product but are charged
costing and total non-manuf i pf the period. For example, all fixed cost under marg?nm
acturing cost under absorption costing constitute period cost

D : .
efine cost centre, cost unit, profit centre and responsibility centre.

Cost Centre : It i -
€ 0 customer. Each production and service depart

any organization may be treated as a se is i Sk

_ ; : parate cost centre. This is so because cost can
F; lg:;yzfguk:;tgﬁizc; depa rtm?nt. It is also to be noted that cost centres are established

so so as lo ensure that actual cost doe |

atordard ek s not deviate much from the
Cost Unit : It is a unit of product, service or time in terms of which the cost is ascertained {
or expressed. For example, cost of steel manufactured is expressed in terms of per tonne 4

and cost of carrying a passenger in terms of per km.

Profit Centre: It is such activity in a business organization which is responsible to bear
the cost, generate revenue and earn profit. Each profit centre has a target profit and

adopts such policies which are necessary to earn such profit.
Responsibility Centre : It is a function of an organization under the control of a manager
who has direct responsibility for its performance. Each cost centre and profit centre in any

organization can be treated as a responsibility centre.

Define cost object & gi

Cost object is defined as anything
Ex: of cost object include a produc

Deptt. Or program.

Define and compare
Cost Reduction = don as “the achievement of real and permanent
Cost reduction IS de_:fmed by C.L.MA. -on s rendered without impairing
reduction in the unit cos following characteristics of

their suitability for use intende

cost reduction g $1OW
| ion must be real - 5@y,
(i) Cost reduct e 8

tes, chan

ve three examples.
for which a separate measurement of costs is des!rgd,
t service, project, customer, brand category, activity,

Cost Reduction and Cost Control.

d.” This definition reveals the

gse in productivity. e b
ent - temporary reductions In COS ;
n-;:nin market prices, etc. do not fall In the purview

. : ;

i) Cost reduction mus

" windfalls, change in tax ra
of cost reduction.
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Q.12.

Ans.:

Q.13.
Ans.:

; il cts or
[iii) Cost reduction must not impair the suitability of pr:::gl:

use. In other words, cost reduction should
characteristics of the products or services.

Cost Control : |
The cost control is the function of keeping
C.LM.A.. London, cost control “is the regu
operating an undertaking. pamgutgdy where ju:: :
Cost control is based on the principle of pre-dete
levels so that inefficiencies and wastages may
The main points of distinction between the two ar?:I as
1 Cost reduction is the achievement of real an

cost control is the achieve ment of predetermine

5 The methods emgloyed by the two trar:.hnig1.11E~i5t ~:i
concerned with predetermining costs, comparng

- * | reduction, _
variances and taking corrective action. Cost pron redetermine d targets.

it challenges the predetermined

concerned with maintenance of performance accor
3 Cost reduction is a corrective function because

costs within prest
tation by execull
h action is g
mined cosis an
pe reduced.
follows
nent re

perma
d costs or targets.

——CAR. K MEHTA |
-

services for the intended

be at Lhe cost of essential

| imi ding to
cribed limits. Accor
y ve action of the cost of

yided by cost accounting.”
d achieving these cost

duction in cost whereas,

re different. Cost cuqtml IS
th actual costs, analyzing the
on the other hand, 1S not

' on the
targets and seeks to improve performance for reducing costs. Cost control,

other hand, is a preventive function as it aims to preven

the predetermined targets.

Explicit Cost and Implicit Cost

Explicit costs are those costs which require cash payment: For E;amplg. when g'!atz_ainﬁls
are purchased, workers are employe, these are payablg immediately in cash. simiia vig
rent of building, insurance premium, pcwer cost, advertisement cost etc. are all payabie

immediately in cash. These are explicit costs.

As against explicit coss, the implicit costs are those which do not neeq to be paid inlcash
but are costs otherwise incurred. For example, depeciation on plant is a cost but is not

payable in cash. This is an implicit cost.

Distinguish between Financial Accounting and cost Accounting.

Comparison of Cost Accounting and Financial Accounting :

Basis
1. Purpose

Financial Accounting
To prepare P & L A/c and
Balance sheet for presentation
to shareholders and other
external users
This is mandatory under
Companies Act, Income Tax

2. Statulory
requirements

Act, etc.
3. Costand profit It reveals overall profit/loss
analysis and cost

4, Control aspect It lays emphasis on recording

of transactions

5. Periodicity of

P & L Account and Balance
reporting

Sheet are generally prepared
annually

6. Pastand future

It is concerned with past
costs

records

Cost Accounting
To provide detailed cost
information to management
l.e. internal user.

it is voluntary except in
specified industries.

It reveals cost and profit or
loss for each product,
depariment, etc.

It lays emphasis on cost
control.

Cost statements are regularly

and frequently prepared at
short intervals and presented
to management.

Itis concerned with past and
future costs.

t the costs from exceeding

v




Q.15.

Ans.:

The following
organisation :

1.

Nature of business -
: The i :
general nature of business_ Costing system to be Introduced should be suitable to the

Method and proced
purchase, receipts, EEUL:;E;E |_Igs::glf.m : V_ari,nus methods and procedures for the
should be studied ' OT materials and for other controls presently in use

Methods of wage Payment : The method of

be studied. wage payment currently in use should

Layout : The system designers should stud
Technical aspects

consideration and an
support of the memb

y the size and layout of the organisation.

- The technical aspects of the business should be taken into

attempt should be made to get the sympathetic assistance and
ers of supervisory staff and workers for the costing system.

Managemen? pnlju:_iﬂs and expectations : A careful and analytical study of the
management’s policies and expectations from such a system should be conducted.

Simplicity of the system : The costing system to be installed should be easy to

understand and simple to operate. The procedures lai* down should be easily
understood by the operating staff.

Discuss the essentials of a good Cost Accounting System?

1.

@@ N O 0 A~ W

10.

It should be tailor-made, practical, simple & capable of meeting the requirements of a
business concern.

The data used by the system should be accurate, otherwise it may distort the output
of system.

The method of costing should be suitable to the industry.

Cost of installing & operating the system should justify the results.

Cost Accounting system should have the support of top management of the concern.

The system should have the necessary support from all the user's departments.
There should be a harmonious relationship between costing system & financial A/C.
er

The system should prnvide adequa
& recording of materials.

ecor
- should ensure propert
The costing system  should ensure that overheads are collected,

te checks on ordering, receipts, stocking, issuing

ding of worker's time & their wages.

ting syst - i
e mcjgiedﬂzgiz?ﬂgr?ed % absorbed fairly & equitably.
accu
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Q.1.
Ans.:

Q.2.

Ans.:

Q.3.
Ans.:

Q.4.
Ans.:

UNIFORM COSTING

to another and as su;_::h this
f one business with the

i 1 the help of uniform costing.
|ff‘;f.:;::£ ﬂghﬁl%ng principles_ b}* dlfferent
larified that uniform custiqg IS ne;th_er a
is a separate costing teqhmqge
sting there should be uniformity
tment of expenses.

Define Uniform Costing ? |
The technique of cost accounting differs
difference makes it difficult to compare lhE; c
another. An attempt is made to remove this d
Hence, uniform costing is the adoption of
undertakings in an industry. Here it must also be C e
separate costing like job costing or process costing 5
like standard costing or marginal costing. For uniform C e e
of certain principles and approach towards the collection

from one bUEinEE?
ost information O

i v i i ished before
Discuss the point in respect of which uniformity 1S required to be establish

introduction of uniform costing in an iqdustry 7 |
Following are the relevant points in this regard
l. The method of costing to be adopted i.e. whet

combination of both. | |
The technique of costing to be adopted i.e. marginal costing, standard costing, etc.

her job costing or process costing or a

l?i

3. A standard terminology in cost information and data. | | |

4. Uniformity in classification of expenses and their allocation to respective accounting
heads. |

5. The basis and methods of overhead classification, allocation, apportionment and
absorption.

6. The basis of apportionment of total expenses to service departments and the basis of
apportionment of service department costs to the production departments.

7. Method and the rate of charging depreciation.

8. Treatment of research and development costs.

9. Treatment of defecfive work and waste.

10. Presentation of data and reporting to the management.

What are the limitations of uniform costing ?
The limitations of uniform costing are

. the technique of uniform costing may not be flexible enough to
each individual member. J cover the needs of
,

2. The members may not feel the mutual trust and confidence.

3. For smaller organisations, the cost of introduction '
_ ns, and impleme
be too high to match with the benefits derived from the syztem

4. The members firms may not like to share their busi

5. It may lead to monopolistic condition ' -
controlling the supplies. and prices may be raised artificially by

ntation of system may

Ness secrets.

What are the essential requirem
' ents for success of uni '
Essential requirements for its success are : niform Posting system 2

I. There should be mutua| Co-Operation and understandin

, g among the members.

Z. There should be mutual frust and confidence.

3. A common cost terminology should be prepared by

4. The approach of members should b
whenever required. gl

the members ynits
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A _ ould h
selling price or maki ave a com ‘
ng inter-firm mon interest whi
comparison, ich may be the fixation of a

a5. What are the objectives of unif

orm costing ? :
AnS:: 1. It fixes a common price on the basis 9{- OR What is the need of unifarm casting ?
2. of uniform costin |
g procedures.

7 It enables different m
o ember firm
on same princ S to com
principles. Hence their Pfﬂﬁlahilit;;raégnthj SEG;E because the cost are based
compared.

3. Comparison of costs
» and -
4. It facilitates cost control. profit help in measurement of efficiency of business

I r |

Q.6. What are the advantages of uniform costing ?
ans.: (A) Advantages to members firms |

1. Services of coste
. xperts and co .
> itis useful for cost control nsultant may be utilised jointly by all.

3. Cutthroa ition i
t competition is converted into a cémpetition on healthy lines.

4. The small units ca
, n share th
out by bigger organisations. e benefits of the research and development carried

(B) Advantages to workers of members firms

1. Workers can be paid
the benefits of all?m at better rates and bonus schemes may b introduced for

2. Labour t.urnuuer shall also be less because of uniform wage structure.
3. Recreational facilities can be arranged in a better way ona common basis.

(C) Advantages to the consumers
1. Consumers are benefited by lower selling price and better quality of products.

2 |t creates confidence amongst the consumers because the prices are reliable
and are representative of the whole industry.

(D) Advantages to Government
1. It helps in fixing minimum wages and fare wages in an industry.
2. Costing data is easily available to Govt. and it can make 3 decision on policy

matters regarding grant of subsidy, import licence, etc.

3. |t helps 10 control and regulate the prices of important products like cement,

steel, etc.

(E) Advantages to trade associations
1. The associations can negotiate with the Govt. with better terms and conditions.

2. the association ¢an do better for promotion of exports by improving the quality
and reducing the selling price through joint efforts.

Q.7. Define Uniform Costing Manual.
n a form of 3 booklet,

' ' lly i
. - : gl is @ formal written document, genera ‘ ‘
e g;;v.ft‘:imngU“;t;gﬂ:dail;trucliuns to be followed DY member undertakings regarding

installation and impiernentatiun of uniform costing system. |
relates 10 relevant policies, functions, Systems.

. . - ions \
The information anc ing to cost ascertainment, cost control and presentation of
procedures an
cost data.

The objecti
cost accoun

re that their

is to help the undertakings to enst

: .~q manual _ . ,
ve of ug;f;q:iﬁszggurdance with the uniformity requurements.
ting SY
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Q.1.

Ans.:

Q.2.

Ans.:

Q.3.

Ans.:

Q.4.
Ans.:

2.
3
4. There should not be any
5.

INTER-FIRM COMPARISON

Define inter-firm comparison. d profits of various firm in

. an ;
rmance, efficiency. cost ollects the data from its

It means the comparison of the perfo ficie
f : tral co-ordinating agency C

an industry. For this purpose, a cen is the data and present
members?egarding :;’sls? efficiency and profit. The agtg “w;:af.z:ﬁel?[s comparison with
it in a suitable form to all the members so that each firm sclosing the identity of the
others. The comparison is usually made in codes, WItfh;L:]EJEIE

firms and the information usually provided in the form o - ¢ one riambers
Inter-firm comparison is @ tool of cost control in which the performance

compared with those of others and it helps in increasing efficiency.

What are the advantages of inter-firm comparison ?
one on the basis of uniform costing. As such, advantages‘ of
to inter-firm comparison. However, the following

-firm comparison. |
d weaknesses in relation to others

Inter-firm comparison is d
uniform costing are also applicable to
additional advantages are obtained from inter
|. It makes the management aware of its strength an

in the industry. |
It brings stability in the cost structure and the presentation of cost data.

2,

3. It helps the management to control the costs because efforts are made o reduce the
costs if they exceed in comparison with the other firms.

4. Unhealthy competition in the industry is minimised.

5. Productivity is improved when the weaknesses are located and rectified.

What are the limitations on inter-firm comparison ?

The limitations are :

1. The top management may be reluctant to disclose the data which it considers
confidential.

2. The utility of inter-firm comparison may be doubted by some business concerns.
3. There may not be any cost accounting system properly executed in the firm.

4. There may not be available a suitable base for comparison purposes.

5. Time factor is completely ignored.

6. No adjustments are made for changes in prices.

{.

No atlention is given to the level of lechnology and technological developments

The above menﬁqned limitations can be overcome o g
advantages of uniform costing and Inter-firm comparison

firms in an industry and Installing a scientific cost system e

large extent Dy explaining the
to th_e Management of various
nsuring complete secrecy,

What are the pre-requisites of Inter-Firm comparison?
For inter-firm comparison to be meaningful

- following are the e ole
1. All firms in the industry should follow thj Ssentials.

S System.

‘ . with dye Care and skill
intention to conceal vital facts

Methods of collectin i ‘
. 9. editing, classificati i
be systematic and determined in advan{‘t::tn' analysis ang Presentation of data should
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Q1.
Ans.:

Q.2.

Ans.:

Q.3.

Ans.:

COST AUDIT

Define Cost Audit.

. To '#El'ify that the cost

sccordi accoun
ing 10 the cost acc ts have been correctly maintained and compiled
e

2. Tosee that the cost ounting system employed by the concern.
accounting plan laid down is carried out

What are the functions of cost audit ?
OR |
What are the functions of cost auditors ?

1. To establish the accuracy of cost data

2. Todetecter
rors and to prevent fraud and misappropriations

3. To ensure that the obj
achieved. bjECtWES of cost accnunting as determined by Inanagement |
dare

4. To check the
: general worki i
mprovemsnt orking of costing department and to make suggestions for its

What are the advantages of cost audits ?

(A) Advantages to the Management :

|. Cost Audit acts :
N as an effective manageri :
inconsistencies, etc. gerial tool for detection of errors, frauds,

2. Audited cost data is helpful in inter-firm comparison.

It helps the management to present reliable and -
. C ] '
the parties concerned. accurate costing information 10

tod

(B) Advantages 10 the Consumers :
Cost Audit helps in ascertaining the true cost of production which helps In
ascertaining the market price of the product Hence, the consumer gets the
advantage of the fair prices.

o the Shareholders :

bles shareholders to

eir investment.
cture of company's state of affairs. It tells whether

s are being properly utilised or not.

(C) Advantages t

|. Cost Audit ena
fair return on th

2. Cost Audit ensures a true pi
the resources of the busineés

ges 10 the Government
ct data to the govemn

determine whether or not they are getting a

(D) Advanta :
| Cost Audit provides COI€ ment for fixing up the prices of the

" commodities.
hat conditions of countr

2. It'san offective ool 10 S€€ t
3 productivity 1S increased and ~ational income goes up-

ies economy remain healthy.

S
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Q.4,

Ans.:

Q.5.
Ans.:

Q.6.

Ans.:

Write a short note on Cost Audit procedures 7

a cost audit programme which should include the

The cost auditor should prepare
following steps :

|. Collection of actual and budgeted production and sales.
Comparison of actual and budgeted production and sales.

Analysis of variances.

Critical examination of all statements to
managerial decisions.

5. The same procedure of financial audit, i.e. vouc
followed to establish the correctness of accounts. i _
6. Profit as per cost accounts should be reconciled with that of profit as per financia

accounts.

iJ

be presented to the management for taking

L

hing, checking, etc. should be

Define Cost Audit Manual.

It is a written formal document giving necessary details regarding conduct of cost
may include —

(a) Objective of the cost audit.

(b) Authority to whom cost auditor has to report.

(c) Whether the cost audit is continuous or periodic.

(d) The list of cost records and accounts to be audited.

(e) Procedure, time schedule and other details.

audit. It

How is management audit different from cost audit?

Management audit mainly examiners whether managerial decision making is effective or
efficient. It is different from cost audit because -

(a) It has much wider scope as compared to cost audit
(b) Examination of vouchers and other documents is not given huge importance.

(c) Greater 'impﬂrtance Is given to usage of various control ratios for evaluating
managerial performance.

'_—__——-——___ﬁ-——_——_______________—__




